SPRING 2014 - MAP 2302 — ELEMENTARY DIFFERENTIAL EQUATIONS — HOMEWORK 4

NAME:

INSTRUCTIONS:

® Due in class on Friday, January 31, 2014.

o Staple this cover-sheet to your homework.

e Write in complete sentences. ‘

® Solutions to be problems should be written in & proper and coherent man-
ner. All work should be handwritten and neat. Wirite in such a way that any

student in the class can follow your work. Use examples from class and the
textbook as models for your work.

» Show all necessary work,
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) . :

d T
TRLY YN,
c__is _?"ai Constan ,
= ty) d
ﬁ;{) - '-L'f 2 ) f_-,

o, -

= /1.
G) J/g x o

— - — e e g B




b) % = coS 2 dic [ rep-em!@

QVYYy+4)
[¥)
J ,q;yﬂ v
I LﬁHl)V‘ = > <+ C
Y vy

* (
ﬂo ln 4 Yz vp s

= ,d')o 2% 4+ 2L x ./-rxp/im‘/ét)

//w --4; <7C< 3“‘/




(v

o _‘_"M"—

a) AA e x//m.;,mﬁ.e velne Lablw

Coy 3¢, afz) =0,

;
§
I

%ur .vaACH? Herfl be girs e;://;‘mt
ot Fevms g . 4 A

I
W

fo  sofee Hia [finear q«aﬁa—:

A; " 4“, - om.\ (%),
5 7

dx

) e Lirnf lol P
{7 [ 4 1

= €
- /“-Ll.) J >

P = [ 2 e
P!

- e am o mm . o,

(i) e moffly boB s, des 4 00 Af 7,44»)_

J‘./ um) b \ = ,0()45‘/75)

de\ %Yo -r=-

iyl Soprl iyl

ﬁn) L%ms! colo- / /s
/




9
&)
(r) A j’;'rs/ order DE /s fkdu.t 9/.,'7/(40‘-0.
weitfen in Ao ﬁm,

(%) %L (/:73012_._) = O

wire o
LI 0

Gr) (¥) is esambsl 4 & D&

(¥¥) /‘Wy,]) * NLg) dy =0
- afi

7, Ja aemw( Soldon g(*) i J‘fwn _"EP_I:CEH
F}J(,j) _a

-
- s Ty W g —-— WS g

are C_ s _any constad

by

are _fﬁmﬁ”t.ﬁ.:f._ esd (%) is .m,z‘) 2o
oM = M

3_;, %

0 Tf tha Lot parislsmseoss pges,, werp)



¢ .
“ &;%If’*‘ [ acir futial donicitives g pryy o)
“. F
'ﬁj (%j) ave  confowm or a ¢!§_/\?_ﬁ0 X:

oM =

S M mp p R Aen Ao IE
/7{‘717) + N/l’,y) % =0
A

is exntte R,

[fp) SJolve Hia ZVvp
i A
(x + .7'%.) + [?x —_ cos(jyj(;-o} 3(:):2..
Lot Moy = %+ 2%
/v(g/)j), 2; 0t - (c:g.

Hon M = toyx =W o xFo,
I
15T ocds. Pakiad davivehoed

1-; Stna
| | ﬁ 'YY'))N ot (‘owﬂnuow’&' X206
\ o):f\:z) nd WM _2n ﬁ_ [1':,)(_-2)

/ 239 Tox

— . > 6).
/ // R e “’é”'g%’;?
) .



. -5

(BF 2277 +k74) = ‘lqa( — oSy
‘a"—-'j- 0’/ ” a/
[/

/fm/ = mcesy, Ae = /mog/= el

L e Tohe

Fta, gy = _,é,,;c 4y Y—ning .

]QZQ”W»[ Aa s snb-e« rmu///c:’/'é (f-

14 1"”10 "‘Xﬂl‘f =

lvf(',)-: So

Aol + 2% ~ sina = C,
c = 72°8

Ko seh A o TVP /< aj\en imblic, Tl 4
d s

£

An % + xly™ — LY = RS
7 7/ .




